1. B HERBE (m3H-YREHE OHE

BB EICEI<2025FE8 AR DOH A HE

EEA-FEHMX/EHERRX
FEVEJFURHT R 71,510 [/b>e- @D
SR JFUBHT A% 88,760 F/bh>e=+(@ (202543 H ~20254E5 H V-84 JFUBHfi4% )

EHE(@-D) 17,200 M/ (100 A& EI0EEO)

3 17,200

AR = — X 0.082 X 1.1 = 15.51
100

TR T T ADRHT DB S AN T 2510 T, ~ AT AOBHI D HUSE 3L F A9 L 5,

M /m3

DA el TR = 15.51 — HiBh 4 8.00 =

7.51

M /m3

ENF-HRFIHE
FEVEFURHT R 71,480 M/hree @D
SES JECEMITRS 88,800 M /Fore++@  (20254£3 4 ~202545 A D UML)

EHE@-D) 17,300 /R (100 K@ EIV )

HWEE = 17,300
100
TR T T ADRHT DB SN T2 B0 T, ~ AT AOBHI D HUS 3L T 290 5,

X 0.080 X 1.1 = 15.22

M/m3

BN A PEbR ke SRR = 15.22 — HiBh 4 8.00 =

7.22

F/m3

NER#HX
FEVEJFURH S 66,600 /R~y =D
SESJECEMI RS 88,760 M/Ri=++@  (20254FE3 H ~20254E5 H O V4 JFURHiTiA% )

B E((ORO)) 22,100 H/F> (100 ATEEI0#0)

B = 22,100
100

SBEARST TADWE LD BN TR T, < AT ADRH D B I T 20 LI 57,

X 0.082 X 1.1 = 19.93

M/m3

fHBh & etk R AR = 19.93 — #HBh 4 8.00 =

11.93

M/m3

X 202548 H Mt oy OFRIEAIL, FEHTPEIER OIS - U ARG BB 3 ) FE A

8.0M/m3DfEF | EEATVVET,

20254ETH 1 H

2. HER
| 202568 A fgt
Hi AR x| vRomazhmE | SR e
(F4/m3)
A [om3ns520m3EC 724.30]  168.13 175.64
B [20m3% -z 80m3ET 1,311.30]  138.78 146.29
\ \ C |80m3% = 2200m3% T 1,624.10]  134.87 142.38
Tobb A -
D [200m3% =% 400m3 £ T 2,758.10]  129.20 136.71
E [400m3%Z % 700m3ET 5,806.10]  121.58 129.09
F |700m3% =2 2854 8,746.10|  117.38 124.89
. B A [om32:520m3E T 724.30|  168.13 183.64
ﬁ%ﬁgﬁﬂéz B [20m3% =% 80m3E T 1,371.30|  135.78 151.29
FoLbH 2 C |80m3% = 2200m3% T 1,684.10]  131.87 147.38
(G 2 MEIRR) D [200m3% =% 400m3ET 2,818.10]  126.20 141.71
E [400m3%Z%700m3%EC 5,866.10(  118.58 134.09
F |700m3% = 2 5454 8,806.10|  114.38 129.89
‘ A [om32:520m3%EC 709.21|  169.03 184.54
fﬂ%ﬁ%ﬁ; B [20m3%Z%50m3%E T 1,486.81|  130.15 145.66
C |som3zzx 554 2,423.31|  111.42 126.93
A [om32:520m3E T 694.92|  184.35 199.57
B [20m3%Z%81m3E T 1,162.32|  160.98 176.20
Folp A C |81m3% = 2204m3% 1,951.26|  151.24 166.46
D [204m3% =% 511m3%T 1,193.22]  140.25 155.47
E [511m3%Z 25856 8,291.44|  132.23 147.45
A [om32520m3E 694.92|  184.35 199.57
) ‘ B [20m3%Z%81m3E T 1,222.32|  157.98 173.20
(%ggiﬁ?gm C |81m3% = 2204m3% 2,011.26]  148.24 163.46
D [204m3% =% 511m3%T 1,253.22]  137.25 152.47
E [511m3%Z 2555 8,351.44|  129.23 144.45
B - R pp 1 X

A [om32520m3E 595.27|  159.61 -

‘ - B [20m3%Z%81m3E T 1,002.47|  139.25 -

i?ﬁﬁﬁ%ﬁ%)f C [81m3% =z 204m3% 1,794.65|  129.47 -

D [204m3%Z%511m3ET 3,963.17|  118.84 -

E |511m3% 22554 7,432.86]  112.05 -
A |om32°520m3E T 717.02|  192.25 207.47
‘ - B [20m3%Z%81m3E T 1,207.42|  167.73 182.95
<§3}‘E{E§éé7§7lﬁﬂ7§?> C [81m3z = 2204m3%C 2,160.79]  155.96 171.18
D [204m3%Z%511m3%T 4,771.99  143.16 158.38
E [511m3% =2 5458 8,967.30|  134.95 150.17
A |om322518m3% 704.55|  185.90 205.83
B[ HX Tolb WA B [18m3%Z%67Tm3FET 1,222.46|  157.12 177.05
C l6Tm3zzx 5854 2,435.78|  139.01 158.94




